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A EAA
Bu: #F2ARY
gelr J2dH(2EdL) (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OBHEEZ A J24+2H|
1,200, 000& 1200 A& 14,400
02 =224l 309,040 111,065 197,975
©0332= € HAl 180,000
OB 32R3 3,000,000& 122 36,000
OB A 2323 7,000,000 «12& 84,000
OEATZA B23R23 4,500,000& x12& 54,000
O22Ad4 AEMAMS 500,000 122 6,000
osE= 270,000& 128 3,240
o3ExEg FFH 2,200,000& =122 26,400
O=EXE Bg& 500,000 =11CH 5,500
OZ3EXE ==&t 300,000& ~12& 3,600
O =l 40,500
OEBAHXA Azt 600, 000& *4 0 A +42 9,600
OBAXZ A AZH(HYE)
400,000 «9I A +48 14,400
OBAXZ A ASH (BEY)
50,0003 *11JH A +62 16,500
OAIE &l =X 49,800
O8dA A& EHI 7 X
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O8d XA A& FEH S XY
1,300, 0003 * 1204 2 156,600
OEAHTZ A AIEEHI KXY
1,100,000& 120 2 13,200
04 bl 171,120 191,760 220,640
202 044l 171,120 191,760 A 20,640
01 SLHOIYI 171,120 191,760 220,640
O 2t 200,000& x57H «12& 136,800
O22 ol 65,000 *44H « 12 34,320
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